|*** EERE

HRARSEEEBER (KL

o OH 2 o e
W <R A S
o i
TR

mt

=
B
s
bl
S

if

o o Rt
o e

&
=

BE
QB =%
ﬁ%%ﬂxﬁ
FE A -

JE U B 3 A B 5R0R
RehkBHes

it

Gt s it 2 S Gt
FAEHRTE

=S
Sakus

L

EE=EE
T ik T S 2 S

=

%ﬁﬁ%
b}

BR 2l v
D%%

REBEEFME
REERRBAR
*RBEE

i FE & 7

Bk 2 g
Hit kA AE

LHRRER

BRA R f#
B EITIRA
frk 155

7 M CH b RO

Az DB RRIA

—BEE B ERXRH AR A A
R-ZBE=F RZTEZF
AA=+RA +-A=t+—R”

Bz F#ET FET
85,386 87,677

7,481 7,980

43,921 45,057

= 60,000

136,788 200,714

7 3,286 6,326
8 53,405 16,006
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